(FRRERRESHI]

[RRE7-5] UTOXo7%eTr—44ARTv 77 5%2ERLET, 0B, 7—
X285 LY 7 FHi & genNode, genElemen 1 [ 7-2] &R LTI,

Sub R% > 1_Click()
nodeNo = 0: FX2 = -3.5: XX = 0: YY =5 '&KEVHESRTE

For i =0 To 4 'RIEEMEXYBEEE L TER
genNode XX, YY, -1, -1, 0, 0
YY =YY + 25
Next
For j =1 To 31
YY =5 XX =XX + 2.5 " BEAMEEmE X OWEAERE
For i =0 To 4
forceY = 0
If j =16 And i = 4 Then forceY = -500
genNode XX, YY, 0, 0, 0, forceY ' ZERHRUMNNEBREHLZL
YY =YY + 25
Next
Next
For j =0 To 31
YY =0: XX =XX+ 2.5 " BEAMEME X OWEAERRE
For i =0 To 8
forceY = 0
If j =16 And i = 8 Then forceY = -1000
genNode XX, YY, 0, 0, 0, forceY ' ZTRMERUNHBREHLL
YY=YY+25
Next
Next
YY =0: XX = XX + 2.5 " BEAMEEME X OWEAERE
For i =0 To 8
genNode XX, YY, -1, 1, 0, 0 ' Aif
YY =YY +25
Next
elemNo = 0: N1 =1 "#ALVER%
For j =0 To 30 " NI+k+1 + N1+k+6
For k =0 To 3 '
genElement N1 + k, N1 + k +5 NI +k + 6
genElement N1 + k + 1, N1 + k, N1 + k + 6 ' N1+k +——— + N1+k+5
Next
N1 =Nl +5
Next

N1 = 156: N2 = 163
For k = 0 To 3 "#&8Y

genElement N1, N2, N2 + 1 ' N1+l +———— + N2+1
genElement N1 + 1, N1, N2 + 1 ' | |
NT =N1 +1 ' | |
N2 = N2 + 1 ' NT  +———o + N2
Next
N1 = 161
For i =0 To 31 "KL &%
For k =0 To 7

genElement N1 + k, N1 + k + 9, N1 + k + 10
genElement N1 + k + 1, N1 + k, N1 + k + 10
Next
N1 =N1 +9
Next
End Sub
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Sub drawExternalForce ()
With Worksheets "gimT—4")

Sheets ("[&”). Select " ARELRAENE, ERESTRENA

i =2 T EBADTRHDENEHAEIZEERL S

Do While .Cells(i, 1) & 77
X2 = extX(Val (Cells(i, 2))): Y2 = extY(Val ((Cells(i, 3))) 'o— b LEDEZIZEH
DX = Val (Cells(i, 8)) * 0.1: DY = Val(Cells(i, 9)) * 0.1 "*xxZHER
BX = Val (.Cells(i, 4)): BY = Val (.Cells(i, 5))
X1 = X2 - DX: Y1 =Y2 + DY
If DX <> 0 Or DY <> 0 Then drawVector X1, Y1, X2, Y2, 1, 8, “Arrow” & i - 1
If BX <> 0 0r BY <> 0 Then drawDispBoundary i, X2, Y2, BX, BY

=i+ 1
Loop
End With
End Sub
(HHBR)
Function extX(X) As Double
extX = X * 4 + 200 ko2 B AT

End Function
Function extY(Y) As Double

extY = -Y * 4 + 600 kx2S ER
End Function
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